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 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 35 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 
(i) g^r àíZ A{Zdm`© h¢ & 
(ii) àíZ g§»`m 1 – 10 VH$ EH$ A§H$ Ho$ h¢ & BZ àíZm| Ho$ CÎma 20 eãXm| go A{YH$ Zht hmoZo 

Mm{hE &                                                                                            
(iii) àíZ g§»`m 11 – 20 VH$ Xmo A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma 40 eãXm| go A{YH$ Zht hmoZo 

Mm{hE & 
(iv) àíZ g§»`m 21 – 30 VH$ Mma A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma 100 eãXm| go A{YH$ Zht 

hmoZo Mm{hE & 
(v) àíZ g§»`m 31 – 35 VH$ N>… A§H$m| Ho$ h¢ & BZ àíZm| Ho$ CÎma 150 eãXm| go A{YH$ Zht 

hmoZo Mm{hE & 
(vi) àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  

{b{IE & 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions number 1 – 10 are of 1 mark each. The answers to these 

questions should not exceed 20 words each. 

(iii) Questions number 11 – 20 are of 2 marks each. The answers to these 

questions should not exceed 40 words each. 

(iv) Questions number 21 – 30 are of 4 marks each. The answers to these 

questions should not exceed 100 words each. 

(v) Questions number 31 – 35 are of 6 marks each. The answers to these 

questions should not exceed 150 words each. 

(vi) Question number 21 is a map-based question. Write its answers in your 

answer-book. 

1. 1989 _| amï´>r` _moM} H$s gaH$ma H$mo {H$Z Xmo nañna {déÕ amOZr{VH$ g_yhm| Zo g_W©Z 

{X`m ? 2
2

1
=1 

Which two diametrically opposite political groups supported the National 

Front Government in 1989 ? 

2. 1988 _| _oaR> (CÎma àXoe) _| O_m hþE {H$gmZ {H$g ~mao _| {damoY H$a aho Wo ? 1 

What did the farmers gathered at Meerut (Uttar Pradesh) in 1988 protest 

against ? 

3. emh Om±M Am`moJ Ho$ {H$gr EH$ {ZîH$f© H$m C„oI H$s{OE & 1 

Mention any one finding of the Shah Commission of Inquiry. 
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4. ‘H$m§J«og qgS>rHo$Q>’ Š`m Wm ? 1 

What was ‘Congress Syndicate’ ? 

5. ñdV§Ì ^maV Ho$ nhbo Am_ MwZmd _| H$m¡Z-gm amOZr{VH$ Xb g~go ~‹S>o {damoYr Xb Ho$ ê$n 
_| C^am ? 1 

 Which political party emerged as the largest opposition party in the first 

general election of free India ? 

6. nr.gr. _hmbZmo{~g Š`m| à{gÕ Wm ? 1 

What was P.C. Mahalanobis famous for ? 

7. {dídmg ~hmbr {H$g àH$ma qhgm H$_ H$aZo H$m EH$ gmYZ h¡ ? 1 
How is confidence building a means of avoiding violence ? 

8. 2006 _| g§`wº$ amï´> Ho$ gXñ`-amÁ`m| H$s g§»`m {H$VZr Wr ? 1 
How many member-states were there in the United Nations in 2006 ? 

9. Xb-AmYm[aV AmÝXmobZm| go Š`m A{^àm` h¡ ? 1 

What is meant by party-based movements ? 

10. Xjog (SAARC) Ho$ {H$Ýht Xmo gXñ`-amÁ`m| Ho$ Zm_m| H$m CëboI H$s{OE & 2
2

1
=1 

Mention the names of any two member-states of SAARC. 

11. ^maV gaH$ma H$s {H$g H$m`©dmhr go _Nw>Amam| Ho$ OrdZ _| EH$ ~‹S>m g§H$Q> I‹S>m hmo J`m ? 
CÝhm|Zo amï´>r` ñVa na H$m¡Z-gm g§K ~Zm`m ? 1+1=2 

 Which action of the Government of India threatened the fish workers’ 

lives in a big way ? Which organisation did they form at the national 

level ? 

12. 1973 Ho$ AmZÝXnwa gm{h~ àñVmd H$m n[aUm_ Š`m {ZH$bm ?  2 
What was the outcome of the Anandpur Sahib resolution of 1973 ? 

13. ^maV Zo AnZo-Amn H$mo XmoZm| e{º$ JwQ>m| go AbJ Š`m| aIm ? 2 
Why did India keep a distance from the two power blocs ? 

14. ^maV Ho$ Hw$N> ^y{_-gwYma Ag\$b Š`m| aho ? 2 

Why were some land-reforms not successful in India ? 

15. Xogr aOdm‹S>m| go Š`m A{^àm` Wm ? ñdVÝÌVm Ho$ g_` Eogo aOdm‹S>m| H$s g§»`m {H$VZr Wr ?  
  1+1=2 

What was meant by Princely States ? How many Princely States were 

there in India at the time of independence ? 

16. ‘gm§Pr naÝVw AbJ-AbJ {µOå_oXm[a`m|’ go Š`m A{^àm` h¡ ? 2 
What is meant by ‘common but differentiated responsibilities’ ?  
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17. gmH©$ (SAARC) H$m {dñV¥V ê$n {b{IE & BgHo$ g~go N>moQ>o Xmo gXñ`-Xoem| Ho$ Zm_m| H$m 
CëboI H$s{OE & 1+1=2 

 Write the full form of SAARC. Mention the names of its two smallest 

member-countries. 

18. dM©ñd go {ZnQ>Zo H$m H$moB© EH$ Cnm` {b{IE & 2 

State any one way to overcome hegemony.  

19. em°H$ Woaonr H$s n[a^mfm H$s{OE & 2 1=2 

Define Shock Therapy. 

20. erV `wÕ H$s n[a^mfm {b{IE & 2 

Define Cold War. 

21. nydm}Îma ^maV Ho$ {XE JE amOZr{VH$ _mZ{MÌ _|, Mma amÁ`m| H$mo                Am¡a      
Ûmam Xem©`m J`m h¡ & BZ amÁ`m| H$mo ZrMo Xr JB© OmZH$mar Ho$ AmYma na nhMm{ZE VWm CZHo$ 
ghr Zm_, H«$_ g§»`m VWm g§~§{YV Aja g{hV, AnZr CÎma nwpñVH$m _| {b{IE : 41=4 
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(i) `h amÁ` 1979 go 1985 VH$ ‘{dXo{e`m|’ Ho$ {déÕ hmoZo dmbo Am§XmobZm| H$m gdm}Îm_ 
CXmhaU h¡ & 

(ii) `h amÁ` ñdV§Ì ^maV H$m dh àW_ ^mJ Wm Ohm± gmd©^m¡{_H$ d`ñH$ _Vm{YH$ma Ho$ 
AmYma na 1948 _| Am_ MwZmd hþAm & 

(iii) dh amÁ` Ohm± amOrd Jm±Yr VWm bmbS>|Jm Ho$ ~rM 1986 _| em±{V g_Pm¡Vo na 
hñVmja {H$E JE & 

(iv) Bg amÁ` H$m {Z_m©U 1960 _| hþAm & 

In the given political map of North-East India, four States are marked 

as                      and      . Identify these with the help of information given 

below and write their correct names in the answer-book along with their 

serial numbers and the alphabets concerned : 
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(i) The State is the best example of movements against the ‘outsiders’ 

from 1979 to 1985. 

(ii) The State is the first part of free India where general elections 

were held in 1948 on the basis of universal adult franchise. 

(iii) The State where Rajiv Gandhi and Laldenga signed a peace accord 

in 1986. 

(iv) The State was created in 1960. 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>hrZ narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na h¢ &  

Note :  The following questions are for the BLIND CANDIDATES only, in 

lieu of Question No. 21. 

{ZåZ{b{IV àíZm| Ho$ CÎma {b{IE : 41=4 

(i) nydm}Îma ^maV H$m H$m¡Z-gm amÁ` 1979 go 1985 VH$ ‘{dXo{e`m|’ Ho$ {déÕ hmoZo dmbo 
Am§XmobZm| H$m gdm}Îm_ CXmhaU h¡ ?   

(ii) H$m¡Z-gm amÁ`, ñdV§Ì ^maV H$m nhbm ^mJ Wm Ohm± gmd©^m¡{_H$ d`ñH$ _Vm{YH$ma 
na AmYm[aV Am_ MwZmd 1948 _| hþAm ? 

(iii) 1986 _|, amOrd Jm±Yr VWm bmbS>|Jm Ho$ ~rM hþE em±{V g_Pm¡Vo H$m g§~§Y {H$g 
amÁ` go h¡ ? 

(iv) nydm}Îma ^maV H$m H$m¡Z-gm amÁ` 1960 _| ~Zm`m J`m ?  

Answer the following questions : 

(i) Which State of the North-East India is the best example of 

movements against the ‘outsiders’ from 1979 – 1985 ? 

(ii) Which State was the first part of free India where general elections 

on the basis of universal adult franchise were held in 1948 ? 

(iii) Which State is related to the accord signed by Rajiv Gandhi and 

Laldenga in 1986 ? 

(iv) Which State of the North-East was created in 1960 ? 
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22. 1977 Ho$ MwZmd Ho$ níMmV², OZVm nmQ>u ñWmB© gaH$ma Š`m| Zht ~Zm nmB© ? H$moB© Mma H$maU 
{b{IE & 4 1=4 
State any four reasons why Janata Party could not give a stable 

government after 1977 election. 

23. ^maV H$s na_mUw Zr{V Ho$ {H$Ýht Mma KQ>H$m| H$s ì`m»`m H$s{OE & 4 1=4 

Explain any four components of India’s nuclear policy. 

24. g_mOdmXr Xb Am¡a H$å`w{ZñQ> nmQ>u Ho$ ~rM VWm ^maVr` OZg§K Am¡a ñdV§Ì nmQ>u Ho$ ~rM 
H$moB© Xmo-Xmo A§Va ñnï> H$s{OE & 2+2=4 

 Bring out any two differences each between the Socialist Party and the  

Communist Party, as well as between the Bharatiya Jana Sangh and the 

Swatantra Party. 

25. d¡ídrH$aU H$s n[a^mfm Xr{OE & BgH$s {H$Ýht Xmo {deofVmAm| H$m C„oI H$s{OE & 2+(2 1)=4 

Define globalisation. Mention its any two characteristics. 

26. CÎmar JmobmB© Am¡a X{jUr JmobmB© Ho$ Xoe, {H$g àH$ma n`m©daU Ho$ AbJ-AbJ AO|S>o Ho$ 

n¡amoH$ma h¢, O¡gm {H$ [a`mo gå_obZ _| IwbH$a gm_Zo Am`m ? ì`m»`m H$s{OE & 4 
 How was the environmental agenda persued by global north different 

from that of global south as was obvious at the Rio Summit ? Explain.  

27. d¡pídH$ {ZY©ZVm {H$g àH$ma IVao H$m òmoV h¡ ?  ì`m»`m H$s{OE & 4 

How is global poverty a source of insecurity ? Explain.  

28. gwajm n[afX² _| gwYma bmZo Ho$ {bE ZE ñWm`r VWm AñWm`r gXñ`m| Ho$ {bE àñVm{dV 

{H$Ýht Mma _mnXS>m| H$m dU©Z H$s{OE & 4 1=4 
 Describe any four proposed criteria for the next permanent as well as 

non-permanent members of the Security Council in order to improve its 

functioning. 

29. ‘em°H$ Woaonr’ Ho$ {H$Ýht Mma n[aUm_m| H$s ì`m»`m H$s{OE & 4 1=4 

Explain any four consequences of ‘Shock Therapy’. 
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30. ZrMo {XE JE H$mQy>©Z H$m Ü`mZnyd©H$ AÜ``Z H$s{OE VWm {ZåZ{b{IV àíZm| Ho$ CÎma  
{b{IE : 2+2=4 

 
(i) `h H$mQy>©Z X{jU E{e`m _| joÌr` gh`moJ H$s à{H«$`m _|, ^maV VWm nm{H$ñVmZ H$s 

^y{_H$m Ho$ ~mao _| Š`m Xem©Vm h¡ ? 
(ii)                 VWm     Ûmam A§{H$V Hw${g©`m± gmH©$ Ho$ ~mH$s Mma gXñ`-Xoem| Ho$ 

{bE Ama{jV h¢ & CZHo$ Zm_ {b{IE & 

Study the cartoon given below carefully and answer the following questions : 
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(i) What does the cartoon tell you about the role of India and Pakistan 

in the process of regional cooperation in South Asia ? 

(ii) The four chairs marked as                      and        are reserved for  

the remaining four member-countries of SAARC. Write their 

names. 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>hrZ narjm{W©`m| Ho$ {bE, àíZ g§»`m 30 Ho$ ñWmZ na h¢ &  

Note :  The following questions are for the BLIND CANDIDATES only, in 

lieu of Question No. 30. 

{ZåZ{b{IV àíZm| Ho$ CÎma {b{IE : 2+1+1=4 

(i) joÌr` gh`moJ H$s à{H«$`m _| ^maV VWm nm{H$ñVmZ H$s _hÎdnyU© ŷ{_H$m H$s 
ì`m»`m H$s{OE & 

(ii) gmH©$ (SAARC) H$m {dñV¥V ê$n {b{IE & 
(iii) gmâQ>m (SAFTA) H$m {dñV¥V ê$n {b{IE & 
Answer the following questions : 

(i) Explain the significant role of India and Pakistan in the process of 

regional cooperation. 

(ii) Write the full form of SAARC. 

(iii) Write the full form of SAFTA. 

31. {ZåZ{b{IV AdVaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {bIo n«íZm| Ho$ CÎma Xr{OE : 32=6 

  Yrao-Yrao _{hbm Am§XmobZ H$mZyZr gwYmam| go hQ>H$a gm_m{OH$ Q>H$amd Ho$ _wÔm| na 
^r Iwbo Vm¡a na ~mV H$aZo bJm & Zd| XeH$ VH$ AmVo-AmVo _{hbm Am§XmobZ g_mZ 
amOZr{VH$ à{V{Z{YËd H$s ~mV H$aZo bJm Wm & g§{dYmZ Ho$ 73d| Am¡a 74d| g§emoYZ Ho$ 
A§VJ©V _{hbmAm| H$mo ñWmZr` amOZr{VH$ {ZH$m`m| _| AmajU {X`m J`m h¡ & Bg ì`dñWm 
H$mo amÁ`m| H$s {dYmZg^mAm| VWm g§gX _| ^r bmJy H$aZo H$s _m±J H$s Om ahr h¡ & g§gX _| 
Bg Ame` H$m EH$ g§emoYZ {dYo`H$ ^r noe {H$`m Om MwH$m h¡ & naÝVw {dYo`H$ H$mo A^r 
VH$ µOê$ar g_W©Z hm{gb Zht hmo nm`m h¡ & 

àíZ : 
(i) _{hbm AmÝXmobZ Ho$ Xm¡amZ CZH$s Xmo _w»` _m±J| Š`m Wt ? 

(ii) ^maVr` g§{dYmZ Ho$ 73d| Am¡a 74d| g§emoYZ Ho$ AÝVJ©V _{hbmAm| H$mo {_bo 
AmajU go CÝh| H$m¡Z-go Xmo bm^ nhþ±Mo ? 

(iii) g§gX _| aIo JE _{hbmAm| Ho$ AmajU g§~§Yr g§emoYZ {dYo`H$ H$mo Amdí`H$ 
g_W©Z Š`m| Zht {_bm ? H$moB© Xmo H$maU {b{IE & 

AWdm 
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 {ZåZ{b{IV AdVaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {bIo àíZm| Ho$ CÎma Xr{OE : 32=6 

  H$m§J«og H$s hma Ho$ gmW ^maV H$s Xbr` ì`dñWm go CgH$m X~X~m IË_ hmo 
J`m & 1960 Ho$ XeH$ Ho$ A§{V_ gmbm| _| H$m§J«og Ho$ EH$N>Ì amO H$mo MwZm¡Vr {_br Wr, 
bo{H$Z B§{Xam Jm±Yr Ho$ ZoV¥Ëd _| H$m§J«og Zo ^maVr` amOZr{V na AnZm à^wËd {\$a go H$m`_ 
{H$`m & Zã~o Ho$ XeH$ _| H$m§J«og H$s AJ«Ur h¡{g`V H$mo EH$ ~ma {\$a MwZm¡Vr {_br & 
~hahmb BgH$m _Vb~ `h Zht h¡ {H$ H$m§J«og H$s OJh H$moB© Xygar nmQ>u à_wI hmo JB© & 

  H$m§J«og Ho$ X~X~o Ho$ ImË_o Ho$ gmW ~hþXbr` emgZ-àUmbr H$m `wJ ewê$ hþAm & 
`h Vmo {ZpíMV hr h¡ {H$ AnZo Xoe _| AZoH$ nm{Q>©`m± MwZmd b‹S>Vr AmB© h¢ & h_mar g§gX _| 
h_oem H$B© Xbm| Ho$ gm§gX aho h¢ & 1989 Ho$ ~mX EH$ ZB© ~mV XoIZo _| AmB© & A~ H$B© 
nm{Q>©`m± Bg Vah C^at {H$ {H$gr EH$-Xmo nmQ>u H$mo hr A{YH$m±e dmoQ> `m grQ> Zht {_b nmVo 
Wo & BgH$m _Vb~ `h ^r hþAm {H$ 1989 Ho$ ~mX bmoH$g^m Ho$ MwZmdm| _| H$^r ^r {H$gr 
EH$ nmQ>u H$mo nyU© ~hþ_V Zht {_br & Bg ~Xbmd Ho$ gmW H|$Ð _| JR>~§YZ gaH$mam| H$m Xm¡a 
ewê$ hþAm Am¡a joÌr` nm{Q>©̀ m| Zo JR>~§YZ gaH$ma ~ZmZo _| _hÎdnyU© ŷ{_H$m {Z^m`r &  

àíZ : 
(i) Zã~o Ho$ XeH$ _| H$m§J«og Ho$ Am{YnË` H$mo bmoJm| H$s ZµOam| _| H$m¡Z-gr MwZm¡Vr  

{_br ? 

(ii) joÌr` nm{Q>©`m| Zo Ho$ÝÐ _| JR>~ÝYZ gaH$ma ~ZmZo _| Š`m ^y{_H$m {Z^mB© ? 

(iii) JR>~ÝYZ Ho$ ZE `wJ _| {H$Ýht Xmo à_wI amOZr{VH$ ~Xbmdm| H$m C„oI H$s{OE & 

 Study the passage given below and answer the questions that follow : 

  Focus of the women’s movement gradually shifted from legal 

reforms to open social confrontations. The movement made demands of 
equal representation to women in politics during the nineties. 73rd and 

74th amendments have granted reservations to women in local level 

political offices. Demands for extending similar reservations in State and 
Central legislatures have also been made. A Constitution Amendment 

Bill to this effect has been proposed but has not received enough support 

from the Parliament yet. 

Questions :  

(i) During the women’s movement, which were their two main 

demands ? 

(ii) According to the 73rd and 74th amendments of the Indian 

Constitution, by granting reservations to women, in which two 

ways have they been benefitted ? 

(iii) Why could the Constitution Amendment Bill regarding the 

reservation to the women not get enough support ? Mention any 

two reasons. 

OR 
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 Study the passage given below and answer the questions that follow : 

  The defeat of the Congress party marked the end of Congress 
dominance over the Indian party system. Way back in the late sixties, the 
dominance of the Congress party was challenged; but the Congress under 
the leadership of Indira Gandhi, managed to re-establish its predominant 
position in politics. The nineties saw yet another challenge to the 
predominant position of the Congress. It did not, however, mean the 
emergence of any other single party to fill in its place. 

  Thus, began an era of multi-party system. To be sure, a large 
number of political parties always contested elections in our country. Our 
Parliament always had representatives from several political parties. 
What happened after 1989 was the emergence of several parties in such a 
way that one or two parties did not get most of the votes or seats. This 
also meant that no single party secured a clear majority of seats in any 
Lok Sabha election held since 1989. This development initiated an era of 
coalition governments at the Centre, in which regional parties played a 
crucial role in forming ruling alliances. 

Questions : 

(i) In the nineties, what did people see as a challenge to the 

predominant position of the Congress ? 

(ii) What crucial role did the regional parties play in forming coalition 

governments at the Centre ? 

(iii) Mention any two political changes during the new era of coalition 

governments. 

32. 1970 Ho$ XeH$ _| ^maV H$s H$m`©nm{bH$m Ed§ Ý`m`nm{bH$m Ho$ ~rM {H$Ýht VrZ {ddmXm| H$s 
ì`m»`m H$s{OE & 32=6 

AWdm 
 1970 Ho$ XeH$ Ho$ àmaå^ _|, àYmZ _ÝÌr B§{Xam Jm±Yr H$s gaH$ma {H$Z H$maUm| go bmoH${à` 

hþB© ? 6 

Explain any three controversies between the executive and the judiciary 

of India in 1970s. 

OR 

What were the factors which led to the popularity of Prime Minister 

Indira Gandhi’s Government in the early 1970s ? 

33. nyd© gmo{d`V g§K Ho$ {dKQ>Z Ho$ {H$Ýht N>… H$maH$m| H$m narjU H$s{OE & 61=6 
AWdm 

 ‘‘JwQ>-{Zanoj AmÝXmobZ A~ Aàmg§{JH$ hmo J`m h¡ &’’ Š`m Amn Bg H$WZ go gh_V h¢ ? 

AnZo CÎma Ho$ g_W©Z _| H$moB© VrZ Cn`wº$ VH©$ Xr{OE & 32=6 
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Examine any six factors which led to the disintegration of the former 

Soviet Union.  

OR 

‘‘Non-aligned Movement has become irrelevant today.’’ Do you agree with 

this statement ? Give any three suitable arguments to support your 

answer.   

34. dM©ñd go Š`m A{^àm` h¡ ? {ZåZ{b{IV _| go {H$Ýht Xmo  H$s ì`m»`m H$s{OE :  2+2+2=6 

(i) dM©ñd g¡Ý` e{º$ Ho$ AW© _|; 

(ii) dM©ñd T>m±MmJV VmH$V Ho$ AW© _|; 
(iii) dM©ñd gm§ñH¥${VH$ AW© _| >& 

AWdm 
 Am{g`mZ H$m nyU© Zm_ {b{IE & BgH$s ñWmnZm H$~ VWm {H$Z nm±M Xoem| Ho$ g§JR>Z Ho$ 

\$bñdê$n hþB© ? BgHo$ {H$Ýht Xmo _w»` CÔoí`m| H$mo COmJa H$s{OE & 

What is meant by Hegemony ? Explain any two of the following : 

(i) Hegemony as Hard Power; 

(ii) Hegemony as Structural Power; 

(iii) Hegemony as Soft Power. 

OR 

Explain the full form of ASEAN. When was it established and by the help 

of which five countries ? Highlight its any two main objectives. 

35. h[aV H«$mpÝV Š`m Wr ? BgHo$ {H$Ýht Xmo gH$mamË_H$ Am¡a Xmo ZH$mamË_H$ n[aUm_m| H$m C„oI 
H$s{OE & 2+2+2=6 

AWdm 
 amÁ` nwZJ©R>Z Am`moJ H$m H$m`© Š`m Wm & BgH$s à_wI {g\$m[ae Š`m Wr ? Bg {g\$m[ae 

H$mo {H$g àH$ma bmJy {H$`m J`m ? 2+4=6 

What was the Green Revolution ? Mention any two positive and two 

negative consequences of the Green Revolution. 

OR 

What was the task of the States Reorganisation Commission ? What was 

its most salient recommendation ? How was the recommendation 

materialised ? 
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